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PRTRHIE #“EEHEDHR

(k) CPRTREIE RHLE
—o— 2008 EEERFBATIEN
40.0 200.0%
30.0 150.0%
20.0 100.0%
10.0 50.0%
(N = B O NG S o
. : 1.4 1.4
0.0 : ' I : 0.0%
20084F 20094F 20104 20114 20124 20134 20144 R
FERIEGFY)
I 5 &5 =
=% L% Mm% 500875 | 20095 [ 2010% | 20115 | 2012% | 20135 | 20146
BXR |[E#RY<T—(#) 3 7.97 5.02 414 6.32 0.09 0.56 0.10
BX |LBEORY<— () 3 2.04 0.37 3.37 448 1.10 0.89 1.32
BEA (#FERII— ) 3 0.74 1.92 7.33 1.14 0.00 0.00 0.00
BAX SEFRY<— (#%) 2 0.01 0.05 0.02 0.00 0.00 0.00 0.00
BA H)HoI—X 2 0.00 0.00 0.00 0.00 0.00 0.00 0.00
= 13| 1076 7.36 14.85 11.94 1.19 1.45 1.42
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(k) C—PRTR¥IE HBIE
200 —o— 20084 L& EE B R B ATIEN 120.0%
100.0% 101.1%
87.2% 86.3% 87.5% | 100.0%
75.7% | soo%
56.9%
1.00 N 60.0%
-m 1 40.0%
047 044
0.27 1 20.0%
0.00 : 0.0%
20084 20094 20104 20114 20124 20134 20144 FRE
FERIEGFY)
=% L% HmB 500875 | 20095 [ 2010% | 20115 | 2012% | 20135 | 20146
BX |[E#RY<T—(#) 3 0.22 0.17 0.20 0.15 0.12 0.12 0.44
BEA |[LEORY<—#) 3 0.30 0.30 0.26 0.29 0.15 0.27 0.00
BEA (#FERII— ) 3 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BAX SEFRY < —(3%) 2 0.00 0.00 0.00 0.00 0.00 0.00 0.00
BA H)HoI—X 2 0.00 0.00 0.00 0.00 0.00 0.00 0.00
= 13 0.52 0.47 0.45 0.44 0.27 0.39 0.44
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(REKLE-N) R RREAY (2KEEHE)
—— N EENE
6 6.00
5 4.72 5.00
4.08 3.92
4 4.00
2.81 / /
3 276 243 3.00
1.54
2 \/ 2.00
1 1.00
0 r T 0.00
20084F 20094F 20104 20114 20124 20134 20144 &
) KEXE (N
=% Hl= % BB 50085 [ 2000% [ 2010% | 20117 | 20127 | 2013% | 20145
BAR |[EEARUT—F) 3 1 0 0 0 0 0 0
SP LAEDR)<—(#k) 3 0 0 0 0 0 0 0
BR iR v — (%) 3 0 0 1 0 1 0 0
SN AR — (%) 2 1 0 0 0 0 0 0
BR H)HrI—X 2 0 0 0 1 0 0 0
ERARELE 13 2 0 1 1 1 0 0
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